
Lesson Test 
Unit 11, Lesson 4: Listening

Task 1: Matching Listen. Match each statement with the correct statement. The first one is done for you.

1.  									        He is using a ruler.

2.   									        He needs a scale.

3.   									        He reads the thermometer.

4.   									        He needs a wrench.

5. 						       			   He is using scissors.

Task 2: Dictation Listen. Write down the sentences that you hear. The first one is done for you.

1._________________________________________________________________?

2. _________________________________________________________________.

3. _________________________________________________________________.

4. _________________________________________________________________.

Task 3: Listening Comprehension Listen to the conversation. Then answer the questions. Circle the correct answers. 

1. What are the people talking about? 
	 A. finding their tools 
	 B. buying some pencils 
	 C. making a box

2. What tools do they need? 
	 A. a ruler and a screwdriver 
	 B. a hammer and a screwdriver 
	 C. a hammer and the scissors

3. What is Angela going to do next? 
	 A. measure the wood 
	 B. cut paper 
	 C. use the screwdriver

Do you need a pencil or pen to write the test?
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Lesson Test 
Unit 11, Lesson 4: Reading

Task 4: Reading Comprehension Read the story. Then answer the questions. Circle the correct answers.

Jonathan is cooking a nice dinner for his family. He is making a pasta salad with chicken and tomatoes, 
but it is not easy. First, the chicken is frozen, and he can’t cook it. Then, he wants to use some nice 
tomatoes, but one tomato is not ripe, and the other one is rotten. He is not able to use them. Next, he 
weighs the pasta, but there is not enough for everyone. Finally, his brother takes him to the grocery 
store, and Jonathan buys some pasta salad for dinner.

1. What is Jonathan doing?  
	 A. making dinner 
	 B. cooking tomatoes  
	 C. shopping for chicken

2. What is wrong with the tomatoes?  
	 A. They are not big enough. 
	 B. They are all frozen. 
	 C. They are not good to eat.

3. What does Jonathan’s brother do? 
	 A. He works in a grocery store. 
	 B. He goes shopping with Jonathan. 
	 C. He buys dinner for Jonathan.
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